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1 i;;;i?\ Eiﬁf 100 f:_191)1 2000 kg | 3370 ke 5990 1880 2570
2 @4; S Eﬂ(ﬁgogég(s 3650 kg | 4170 kg 5440 2210 2490
3 mé%ﬁ?f??é%g Eg%o Emg’f)w 3950 kg | 3930 ke 5780|  2230] 2420
4 a;aée%ﬁzf??é%ﬁ Eiﬁé;g 7‘;@%%1 3900 ke | 3960 ke 5900 2190 2410
5 Hﬁ%;%i@f?;é%ﬁ Egkgo Eﬁgf] 3900 kg | 3960 kg 5800 2210|2420
6 H%%i%%ngs;é%ﬁ Eg%() %g)m 3600 kg | 4200 kg 5870 2,230 2,400
7 i;;;i?\ Eiﬁ 100 izo;g 3000 kg | 4830 ke 8150 2240 3020
8 i;;;i?\ Egkgo %5)93 2550 kg | 5310 ke 8160 2270 3050
9 i;;‘;if\ Egkgo Eﬁgﬁfg 2700 kg | 5160 ke 8170 2230 3,100
0| 10° zg;;:i_ﬁ Eiﬁ 100 'i48)36 10,900 kg | 10,980 ke 1034 2490 3270
1 i;;;i?\ Eﬁé;g %;;:q%? 1900 kg | 5980 ke 818 224 306
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LREEY 11 (100.0%)
DFBL 12 FHEEHHARE BA 0 ( 00%)
QFR 12 FEEEHHHRE BAK 0 ( 00%)
QFR 12 FEEEHHHRE A AK 0 ( 00%)
DIF Y 12 FEEBEPMBEHE T 4 —EILE ok 0 C 00%)
OF A 12 FEERIEPM PFHT + —BLE  AkAk 0 ( 00%)
©F 5 16 FHRHIEA 0 ( 00%)
DF 1T EEEHEE A R AE0GERE Aok 0 ( 00%)
@F L 17 EEEHEH R+ TEUERE Atk 0 ( 00%)
Q@FEM 17 FEEPM+H10%ERESE  * 0 C 00%)
O 17 5% NOX+ 1 O%ERERSE % 0 ( 00%)

% @A 17 FEENOX - PMH10%ZRERE * 2 ( 20.0%)

2 |o%s 18 EapEs 0 ( 00%)

7| ows 19 FrsES 0 ( 00%)

O | @19 FEEAEB I A A EORERE Atk 0 ( 0.0%)

N BTN FRAEGL AR TORERE  Akhk 0 ( 00%)

G [®%s 20 Emmima 0 C 00%)

7 lowm o #asEs 0 ( 00%)

B T 21 2% NOx PN+ 10%E AL 0 ( 00%)

T TR 21 GRS A SONERE Ak 0 ( 00%)
DFR 21 EHAEHH AR+ TEGERE sk 0 ( 00%)
T 22 FEHRFIES 2 ( 200%)
DF AL 22 £ EAENOX - PM+ 1 0% A 2 ( 200%)
DE A 28 FREIEE 1 10.0%)
DT 5 30 EARFHIES 0 ( 00%)
DFAL 30 AP A AEAEAOBGERE Ak A 0 ( 00%)
DI 30 FEHEH A REAE L EONERE Atk 0 ( 00%)
(DA 30 FEHEH 7 R ELAE+ TH9E A E D RAGAGAGAS 0 C 00%)
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2REEH 11 (100.0%)
T 17 FEREEEENE DFEM=E 0 ( 0.0%)
Q+10%EmM = 0 ( 0.0%)

TR 22 FEREREZENE QEME 0 ( 0.0%)
@+5%EM = 0 ( 0.0%)

©®©+10%EmM = 0 ( 0.0%)

®+15%EmM = 0 ( 0.0%)

D+20%EmM = 0 ( 0.0%)

(®+25%E M &= 0 ( 0.0%)

(9+38%EM &= 0 ( 0.0%)

(0+50%E M &= 0 ( 0.0%)

Tk 27 FEREREENE (D32 F} B 7 (63.6%)
(+5%FE R E 1T ( 9.0%)

(34 10%EME 0 ( 0.0%)

(94 15%E M &= 0 ( 0.0%)

(54 20%E M &= 0 ( 0.0%)

10+ 25%:E M & 0 ( 0.0%)

1)+ 35%E M & 0 ( 0.0%)

S 2 FEREBEEENE BFEM=E 0 ( 0.0%)
19+ 20%E M &= 0 ( 0.0%)

(4 40%E M &= 0 ( 0.0%)

D +50%E M &= 0 ( 0.0%)

(2)+90%E M & 0 ( 0.0%)
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